05837-24 M HEFIT R K& H 0Jik 6675 N

7= miiEA

ME
Mo

g -

WEIEE

i EZE R F R,

BR:
FHBEETAFMITFANLFMNE,
Ht LR T EMAZE,

=2

© norelem www.norelem.com



05837-24 M HEFIT R K& H 0Jik 6675 N

1300 | 2250

60

183°

321255 53,3 |30,2| M8x50

75

A | 35 |524/41,4\572| 5 |254(6,7/12,6

05837-24-022501

www.norelem.com

© norelem



05837-24 M HEFIT R K& H 0Jik 6675 N

05837-24-038001

B5

C1

D

D1

M10x50
05837-24-066751 | A |50,8|73,2 50 8|71 4 6,4 |44, 4 8 3 18 9 142 |60|2356 1184 | 50 | M12x50 | 183° 140 |3000| 6675
05837-24-022502 | B | 35 |52,4|41,4|57,2| 5 |25/4|6,7|12,6 97,9 |32|1255 53,3 |30,2| M8x50 | 183° 60 |1300| 2250
05837-24-038002 | B |41,4|58,8|41,4|57,2| 5 |31,8|8,3|15,9 1249421572 78 | 40 | M10x50 | 183° 100 |1800| 3800
05837-24-066752 | B |50,8|73,2/50,8|71,4/6,4/44,4|8,3/189 174 |60|2356 1184 | 50 | M12x50 | 183° 140 |3000| 6675

© norelem www.norelem.com




